	Section
	Homework Problems
(In the form #14(answer)    )
	

	2.4
	#11 (see back of book)
#12 (no)

#13 (see back of book)
#14 (yes)

#15 (see back of book)
#16 {  (-∞, -8)  , (-2, 0) , (2, 5) }

#21 (see back of book)

#22 
a: (-1, 0)  (1,0)  (0,2)

b: domain: 
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c: increasing: (-1, 0) (1, 3)

   decreasing: (-3, -1)  (0, 1)

d: even (y-axis symm)


	#25 (see back of book)

#26

a: 
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b: domain: 
[image: image5.wmf]{

}

p

p

£

£

-

x

x


    range: 
[image: image6.wmf]{

}

1

1

£

£

-

y

y


c: increasing: 
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   decreasing: 
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d: even (y-axis symm)

#53 (see back of book)
#54

a: -4
b: -13

c: -1

#57 (see back of book)
#58

a:
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b: AROC = 4.  Therefore, the function is, on average, increasing from 2 to 5
c: <picture>
d: <use your calculator,  don't worry about the secant line part>
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